

Fixed points of λ -generalized contraction selfmappings in D^* -metric space

Dr C Vijender

Dept of Mathematics, Sreenidhi Institute of Sciece and Technology, Hyderabad.

ABSTRACT: The main of this paper is to prove the existence of fixed point on λ -generalized contraction of self mapping functions on D^* -metric space.

Key Words: D^* -metric space, K-contraction, λ -generalized contraction,

I. INTRODUCTION:

Huang and Zhang [11] generalized the notion of metric spaces, replacing the real numbers by an ordered Banach space and defined cone metric spaces. They have proved Banach contraction mapping theorem and some other fixed point theorems of contractive type mappings in cone metric spaces. Subsequently, Rezapour and Hambarani [17], Ilic and Rakocevic [9], contributed some fixed point theorems for contractive type mappings in cone metric spaces.

Gahler [7, 8] introduced the notions of 2-metric space and Dhage [5, 6] defined D-metric spaces as a generalization of metric spaces. In 2003, Zead Mustafa and Brailey Sims[13] introduced a new structure of generalized metric spaces, which are called G-metric spaces. Recently Aage and Salunke[2] generalized G -metric space by replacing R by real Banach space in G -metric spaces. In 2007 Shaban Sedghi et al [18] modify the D-metric space and defined D δ -metric spaces. Now in this paper I Generalized D-metric spaces by introducing generalized D -metric space by replacing R by a real Banach space in D-metric spaces.

II. PRELIMINARY NOTES:

Recall that a selfmap f of a D^* -metric space (X, D^*) is called a **contraction**, if there is a q with $0 \leq q < 1$ such that

$$(2.1) \quad D^*(fx, fy, fy) \leq q.D^*(x, y, y) \text{ for all } x, y \in X$$

In a different way R. Kannan [9] has defined a contraction for metric spaces which we shall call a K-contraction. Analogously we define the K-contractions for D^* -metric spaces as follows:

2.2 Definition: A selfmap f of a D^* -metric space (X, D^*) is called a **K -contraction**, if there is a q with $0 \leq q < \frac{1}{2}$ such that

$$(2.3) \quad D^*(fx, fy, fz) \leq q \cdot \max\{D^*(x, fx, fx) + D^*(y, fy, fy)\} \text{ for all } x, y \in X$$

The notions of contraction and K -contraction are independent. In this thesis we define a special type of contractions called λ -generalized contractions for D^* -metric spaces as follows:

2.4 Definition: A selfmap f of a D^* -metric space (X, D^*) is called a **λ -generalized contraction**, if for every $x, y \in X$, there exist non-negative numbers q, r, s and t (all depending on x and y) such that

$$(2.5) \quad \sup_{x, y \in X} \{q + r + s + 2t\} = \lambda < 1 \text{ and}$$

$$(2.6) \quad D^*(fx, fy, fz) \leq q \cdot D^*(x, y, y) + r \cdot D^*(x, fx, fx) + s \cdot D^*(y, fy, fy) \\ t \cdot \{D^*(x, fy, fy) + D^*(y, fx, fx)\}$$

for all $x, y \in X$

As already noted in the Remark 1.14.3, every contraction and every K -contraction is a λ -generalized contraction. However the following examples show that there are some λ -generalized contraction f on a D^* -metric spaces (X, D^*) which are not contractions and /or K -contractions.

The following is an example of a λ -generalized contraction which is not a contraction.

III. Main Result:

Theorem: suppose f is a selfmap of a D^* -metric space (X, D^*) and X be f -orbitally complete. If f is a λ -generalized contraction, then it has a unique fixed point $u \in X$. In fact,

$$(3.1) \quad u = \lim_{n \rightarrow \infty} f^n x \text{ for any } x \in X$$

and

$$(3.2) \quad D^*(f^n x, u, u) \leq \frac{\lambda^n}{1 - \lambda} D^*(x, fx, fx) \text{ for all } x \in X \text{ and } n \geq 1.$$

Proof: $x \in X$ be arbitrary and define the sequence $\{x_n\}$ by

$x_0 = x, x_1 = fx_0, x_2 = fx_1 = f^2x, \dots, x_n = fx_{n-1} = f^n x, \dots$ Note that the orbit of x under f ,

$$O_f(x : \infty) = \{x_n : n = 0, 1, 2, 3, \dots\}$$

Consider

$$\begin{aligned} D^*(x_n, x_{n+1}, x_{n+1}) &= D^*(fx_{n-1}, fx_n, fx_n) \\ &\leq q(x_{n-1}, x_n)D^*(x_{n-1}, x_n, x_n) + r(x_{n-1}, x_n)D^*(x_{n-1}, fx_{n-1}, fx_{n-1}) \\ &\quad + s(x_{n-1}, x_n)D^*(x_n, fx_n, fx_n) \\ &\quad + t(x_{n-1}, x_n)\{D^*(x_{n-1}, fx_n, fx_n) + D^*(x_n, fx_{n-1}, fx_{n-1})\} \\ &\leq q(x_{n-1}, x_n)D^*(x_{n-1}, x_n, x_n) + r(x_{n-1}, x_n)D^*(x_{n-1}, x_n, x_n) \\ &\quad + s(x_{n-1}, x_n)D^*(x_n, x_{n+1}, x_{n+1}) \\ &\quad + t(x_{n-1}, x_n)\{D^*(x_{n-1}, x_{n+1}, x_{n+1}) + D^*(x_n, x_n, x_n)\} \end{aligned}$$

Writing $q_{n-1} = q(x_{n-1}, x_n)$, $r_{n-1} = r(x_{n-1}, x_n)$, $s_{n-1} = s(x_{n-1}, x_n)$ and $t_{n-1} = t(x_{n-1}, x_n)$, we get

$$\begin{aligned} D^*(x_n, x_{n+1}, x_{n+1}) &\leq q_{n-1}D^*(x_{n-1}, x_n, x_n) + r_{n-1}D^*(x_{n-1}, x_n, x_n) \\ &\quad + s_{n-1}D^*(x_n, x_{n+1}, x_{n+1}) + t_{n-1}\{D^*(x_{n-1}, x_{n+1}, x_{n+1}) \\ &\quad + D^*(x_n, x_n, x_n)\} \\ &\leq (q_{n-1} + r_{n-1})D^*(x_{n-1}, x_n, x_n) + s_{n-1}D^*(x_n, x_{n+1}, x_{n+1}) \\ &\quad + t_{n-1}\{D^*(x_{n-1}, x_{n+1}, x_{n+1})\} \\ &\leq (q_{n-1} + r_{n-1})D^*(x_{n-1}, x_n, x_n) + s_{n-1}D^*(x_n, x_{n+1}, x_{n+1}) \\ &\quad + t_{n-1}D^*(x_{n-1}, x_n, x_n) + t_{n-1}D^*(x_n, x_{n+1}, x_{n+1}) \\ &\leq (q_{n-1} + r_{n-1} + t_{n-1})D^*(x_{n-1}, x_n, x_n) + (s_{n-1} + t_{n-1})D^*(x_n, x_{n+1}, x_{n+1}) \end{aligned}$$

which implies that

$$(1 - s_{n-1} - t_{n-1})D^*(x_n, x_{n+1}, x_{n+1}) \leq (q_{n-1} + r_{n-1} + t_{n-1})D^*(x_{n-1}, x_n, x_n)$$

And hence

$$\begin{aligned} D^*(x_n, x_{n+1}, x_{n+1}) &\leq \frac{(q_{n-1} + r_{n-1} + t_{n-1})}{(1 - s_{n-1} - t_{n-1})} D^*(x_{n-1}, x_n, x_n) \\ &\leq \frac{(\lambda - s_{n-1} - t_{n-1})}{(1 - s_{n-1} - t_{n-1})} D^*(x_{n-1}, x_n, x_n) \end{aligned}$$

That is,

$$D^*(x_n, x_{n+1}, x_{n+1}) \leq \lambda D^*(x_{n-1}, x_n, x_n), \text{ where } \lambda = \sup_{x, y \in X} \{q + r + s + 2t\}$$

Thus by iteration, we get

$$D^*(x_n, x_{n+1}, x_{n+1}) \leq \lambda^n D^*(x_0, x_1, x_1) = \lambda^n D^*(x_0, fx_0, fx_0) \text{ ----- (A)}$$

Therefore

$$\begin{aligned} D^*(x_n, x_{n+p}, x_{n+p}) &\leq D^*(x_n, x_{n+1}, x_{n+1}) + D^*(x_{n+1}, x_{n+2}, x_{n+2}) \\ &\quad + D^*(x_{n+2}, x_{n+3}, x_{n+3}) + \dots + D^*(x_{n+p-1}, x_{n+p}, x_{n+p}) \\ &\leq \lambda^n D^*(x_0, x_1, x_1) + \lambda^{n+1} D^*(x_0, x_1, x_1) \\ &\quad + \lambda^{n+2} D^*(x_0, x_1, x_1) + \dots + \lambda^{n+p-1} D^*(x_0, x_1, x_1) \\ &\leq (\lambda^n + \lambda^{n+1} + \lambda^{n+2} + \dots + \lambda^{n+p-1} + \dots) D^*(x_0, x_1, x_1) \\ &= \frac{\lambda^n}{1 - \lambda} D^*(x_0, x_1, x_1) \text{ ----- (B)} \end{aligned}$$

Hence $D^*(x_n, x_{n+p}, x_{n+p}) \leq \frac{\lambda^n}{1-\lambda} D^*(x_0, x_1, x_1) \rightarrow 0$ as $n \rightarrow \infty$, since $0 \leq \lambda < 1$. Thus $\{x_n\}$ is a sequence in $O_f(x : \infty)$ and since X is f -orbitally complete, there exists $u \in X$ such that

$$u = \lim_{n \rightarrow \infty} x_n = \lim_{n \rightarrow \infty} f^n x_0 = \lim_{n \rightarrow \infty} f^n x$$

To show that u is a fixed point of f , first we prove

$\lim_{n \rightarrow \infty} D^*(fu, fx_n, fx_n) = 0$. Since f is λ -generalized contraction, we have

$$\begin{aligned} D^*(fu, fx_n, fx_n) &\leq q(u, x_n) D^*(u, x_n, x_n) + r(u, x_n) D^*(u, fu, fu) \\ &\quad + s(u, x_n) D^*(x_n, fx_n, fx_n) + t(u, x_n) \{ D^*(u, fx_n, fx_n) \\ &\quad + D^*(x_n, fu, fu) \} \end{aligned}$$

That is,

$$\begin{aligned} D^*(fu, fx_n, fx_n) &\leq q(u, x_n) D^*(u, x_n, x_n) + r(u, x_n) D^*(u, fu, fu) \\ &\quad + s(u, x_n) D^*(x_n, x_{n+1}, x_{n+1}) + t(u, x_n) \{ D^*(u, x_{n+1}, x_{n+1}) \\ &\quad + D^*(x_n, fu, fu) \} \\ &\leq q(u, x_n) D^*(u, x_n, x_n) + r(u, x_n) D^*(u, x_{n+1}, x_{n+1}) \\ &\quad + r(u, x_n) D^*(x_{n+1}, fu, fu) + s(u, x_n) D^*(x_n, x_{n+1}, x_{n+1}) \\ &\quad + t(u, x_n) D^*(u, x_{n+1}, x_{n+1}) + t(u, x_n) D^*(x_n, x_{n+1}, x_{n+1}) \\ &\quad + t(u, x_n) D^*(x_{n+1}, fu, fu) \end{aligned}$$

$$\begin{aligned} &\leq q(u, x_n)D^*(u, x_n, x_n) + \{r(u, x_n) + t(u, x_n)\}D^*(u, x_{n+1}, x_{n+1}) \\ &\quad + \{r(u, x_n) + t(u, x_n)\}D^*(x_{n+1}, fu, fu) \\ &\quad + \{s(u, x_n) + t(u, x_n)\}D^*(x_n, x_{n+1}, x_{n+1}) \end{aligned}$$

$$\begin{aligned} &\leq \lambda D^*(u, x_n, x_n) + \lambda D^*(u, x_{n+1}, x_{n+1}) \\ &\quad + \lambda D^*(x_{n+1}, fu, fu) + \lambda D^*(x_n, x_{n+1}, x_{n+1}) \end{aligned}$$

That is,

$$\begin{aligned} (1-\lambda)D^*(fu, fx_n, fx_n) &\leq \lambda \{D^*(u, x_n, x_n) + D^*(u, x_{n+1}, x_{n+1}) \\ &\quad + D^*(x_n, x_{n+1}, x_{n+1})\} \end{aligned}$$

Therefore

$$\begin{aligned} D^*(fu, fx_n, fx_n) &\leq \frac{\lambda}{(1-\lambda)} \{D^*(u, x_n, x_n) + D^*(u, x_{n+1}, x_{n+1}) \\ &\quad + D^*(x_n, x_{n+1}, x_{n+1})\} \end{aligned}$$

Which implies that $\lim_{n \rightarrow \infty} D^*(fu, fx_n, fx_n) = 0$, and hence

$$fu = \lim_{n \rightarrow \infty} fx_n = \lim_{n \rightarrow \infty} x_{n+1} = u, \text{ showing } u \text{ is a fixed point of } f.$$

To prove that f has unique fixed point, suppose that $fx_0 = x_0$ and $fy_0 = y_0$ for some $x_0, y_0 \in X$.

Then by the definition of λ -generalized contraction, it follows that

$$\begin{aligned}
D^*(x_0, y_0, y_0) &= D^*(fx_0, fy_0, fy_0) \\
&\leq qD^*(x_0, y_0, y_0) + rD^*(x_0, fx_0, fx_0) + sD^*(y_0, fy_0, fy_0) \\
&\quad + t\{D^*(x_0, fy_0, fy_0) + qD^*(y_0, fx_0, fx_0)\} \\
&= qD^*(x_0, y_0, y_0) + rD^*(x_0, x_0, x_0) + sD^*(y_0, y_0, y_0) \\
&\quad + t\{D^*(x_0, y_0, y_0) + qD^*(y_0, x_0, x_0)\} \\
&= (q + 2t)D^*(x_0, y_0, y_0) \\
&\leq \lambda D^*(x_0, y_0, y_0)
\end{aligned}$$

This implies that $D^*(x_0, y_0, y_0) = 0$, since $\lambda < 1$, and hence $x_0 = y_0$. Thus f has unique fixed point.

Since x is arbitrary in the above discussion, it follows that $u = \lim_{n \rightarrow \infty} f^n x$ for any $x \in X$ and hence

(2.2.2) is proved. Finally, since $D^*(x_n, x_{n+p}, x_{n+p}) = \frac{\lambda^n}{1-\lambda} D^*(x, fx, fx)$ (by (B)), on letting $p \rightarrow \infty$,

we get

$$D^*(x_n, u, u) = \frac{\lambda^n}{1-\lambda} D^*(x, fx, fx), \text{ proving (2.2.3). This completes the proof of theorem.}$$

(3.4) Corollary: Suppose f is a selfmap of a D^* -metric space (X, D^*) and X is f -orbitally complete. If f is a contraction of (X, D^*) , then it has a unique fixed point $u \in X$. In fact,

$$(3.5) \quad u = \lim_{n \rightarrow \infty} f^n x \text{ for any } x \in X$$

and

$$(3.6) \quad D^*(f^n x, u, u) \leq \frac{\lambda^n}{1-\lambda} D^*(x, fx, fx) \text{ for all } x \in X \text{ and } n \geq 1.$$

Proof: In view of the fact that, every contraction is λ -generalized contraction, Corollary follows from Theorem 2.2.1

References:

- [1] C.T. Aage, J.N. Salunke, On common fixed points for contractive type mappings in cone metric spaces, Bulletin of Mathematical Analysis and Applications 1, 3 (2009), 10-15.
- [2] C.T. Aage, J.N. Salunke, Some fixed points theorems in generalized G-metric spaces, submitted.
- [3] M. Abbas, G. Jungck, Common fixed point results for noncommuting mappings without continuity in cone metric spaces, J. Math. Anal. Appl. 341 (2008), 416420.
- [4] A. Aghajani and A. Razani, Some completeness theorems in the Menger probabilistic metric space, Applied Sciences 10 (2008), 1-8.
- [5] B.C. Dhage, Generalized metric space and mapping with fixed point, Bull. Cal. Math. Soc. 84, (1992), 329-336.
- [6] B.C. Dhage, Generalized metric space and topological structure I, An. stiint. Univ. Al.I. Cuza Iasi. Mat(N.S), 46, (2000), 3-24.
- [7] S. Gahler, 2-Metriche raume und ihre topologische structure, Math. Nachr., 26, 1963, 115-148.
- [8] S. Gahler, Zur geometric 2-metriche raume, Revue Roumaine de Math.Pures et Appl. XI (1966), 664-669.
- [9] D. Ilic, V. Rakocevic, Common fixed points for maps on cone metric space, J. Math. Anal. Appl., 341 (2008), 876-882.
- [10] G. Jungck and B. E. Rhoades, Fixed point for set valued functions without continuity, Indian J. Pure Appl. Math. 29(3), (1998), 771-779.
- [11] H. Long-Guang, Z. Xian, Cone metric spaces and Fixed point theorems of contractive mappings, J. Math. Anal. Appl. 332 (2007) 1468-1476.
- [12] Z. Mustafa, A New Structure for Generalized Metric Spaces with Applications to Fixed Point Theory, PhD Thesis, The University of Newcastle, Australia, 2005.
- [13] Z. Mustafa and B. Sims, A new approach to generalized metric spaces, Journal of nonlinear and Convex Analysis 7, 2 (2006), 289-297.
- [14] Z. Mustafa and B. Sims, Fixed point theorems for contractive mappings in complete G - metric spaces, Fixed Point Theory and Applications 2009, Article ID 917175 (2009), 1-10.
- [15] Z. Mustafa, W. Shatanawi and M. Bataineh, Existence of fixed point results in G - metric spaces, International Journal of Mathematics and Mathematical Sciences 2009, Article ID 283028 (2009), 1-10.

- [16] A. Razani, Z. Mazlumi Nezhad and M. Boujary, A ϕ -fixed point theorem for w – distance , Applied Sciences 11 (2009), 114-117.
- [17] Sh. Rezapour, R. Hambarani, Some notes on the paper 'Cone metric spaces and fixed point theorems of contractive mappings' , J. Math. Anal. Appl. 345 (2008), 719-724.
- [18] S. Sedghi, N. Shobe and H. Zhou, A common fixed point theorem in D-metric spaces, Fixed Point Theory and Applications 2007 (2007), 1-14.
- [19] O. Valero, On Banach's fixed point theorem and formal balls, Applied Sciences 10 (2008), 256-258.